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WORD OF THE DAY

CAUCUS

(NOUN): (81): group gathered to make

decisions

Synonyms: gathering, convention
Antonym: individual, one
Example Sentence:

The legislative caucus had a long discussion over

the new bill.
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FILLERS

In each of the questions given below a sentence is
given with one blank. Below each sentence FOUR
words are given out of which two can fit the
sentence. Five options are given with various
combinations of these words. You have to choose
the combination with the correct set of words
which can fit in the given sentence.




1. Would you like to have coffee?
(A) much
(B) more
(C) some
(D) many

(a) A-B Ans.(c) Sol. The words ‘many’ and
(b) A-D ‘more’ are used as adjectives of quantity
(¢) B-C differently. The adjective ‘many’ is used
(d) C-D in the case of countable whereas the
adjective ‘more’ is used in the case of

(e) A-C

‘uncountable’.




2. The Dysart Unified School District says they are investigating
threats made the district and Dysart High
School.

(A) Towards

(B) Against

(O) For

(D) After

(a) A-B

(b) A-D Ans.(a)
(¢) B-C Sol. Here against means directed

(d) C-D towards or affecting someone/something

(e) A-C in a negative way. Hence option (a) is

correct



3. In 1997 the sales tax was lowered to 4%, then in 2001 it
was abolished
(A) Together
(B) Laterally
(C) Completely
(D) Altogether
(a) A-B

(¢) B-C Sol. Altogether means completely;

(d) C-D totally hence altogether and
(¢) B-D completely are similar in meaning

and can be substituted for one

another.



SENTENCE IMPROVEMENT




4. Can you tell me where does your uncle
live?

01. where your uncle does live
02. whether your uncle does live

03. where your uncle lives

04. where lives your uncle

0S. No correction required

Answer: 3) Where your uncle lives.




S. This milk has got a different taste. it can
have gone sour.
01. can go sour

02. had soured

03. can have gone sourly

04. may have gone sour

05. No correction required

Answer: 4)

may have gone sour.




6. He browsed the website suggested from
the author.
01. suggest by
02. suggest from
03. suggests into

04. suggested by

05. No correction required.

Answer: 4)

suggested by




7. It is not a matters of disgrace if a person is
not an engineer or a doctor.

01.material of grace

02.matters of grace

03.matters of graceful

04. matter of disgrace

05. No correction required.

Answer: 4)

matter of disgrace




8. The current crisis has brought the
country to the brink of civil war.
01.too the brink

02.into the brinks

03. for the brink

04. up the brink

05. No correction required.

Answer: 5)

No correction required.




9. In rural areas, including tribal regions,

01.
02.
03.
04.
0sS.

district collectors and self-help groups
mobilized people into opening bank
accounts, while in urban areas people were
less supported.
Were less supportive
Would less support
Was least supports

Are least supportive

No coryestion required

‘Less’ is functioning as adverb



10. The culture of copying in examinations has
become rampant and it is not just the
government who were responsible for it.

01. Whose is responsible

02. Wherever was responsible

03. Which would be responsibility

04. Which is responsible

05. No correction required

Answer: 4)

Relative pronoun ‘which’ is to be used for ‘government’




11. The campaigners stressed the importance of

01.
02.
03.
04.
0s.

creating awareness about the values of
segregate waste, as well as the responsibility
that citizens had when it came to disposing of
garbage.

Valued of segregated waste
Value of segregate waste

Value of segregating waste

Values of segregates waste

N&ngwggion required

‘Value’ conveys ‘importance’, in the

cnnton n~rn



12. Markets has controlling the consumers' thought
process through advertisements and marketing
gimmicks.

01. Have controlled the consumers’ thought process

02. Had controls the consumers’ thought processing

03. Have controls the consumer’s thought process

04. Has control the consumer’s thought progceg

05. No correction required

Answer: 1) °‘Have’ is to be usec

corresponding to ‘markets’




Achievements of education has perceptively
declined in our country in the recent decades, as a
result the quality in education and excellence in
performance have become cither extinct nor a big
challenged.

Neither extinction or a big challenges

Either extinct or a big challenge

Neither extinct or a big challenged

Either extinction nor a big\ehallengg ‘Either-or’ is to
No correction required be used to express two

different conditions

apolicable.



14. The most famous and mouth-watering

01.
02.
03.
04.
0S.

delicacy of mangoes is aamras, prepared
entirely with mango pulps and with no
preservatives much as to improve on the
taste.

So as to improve on

As it is to improve on

Much for to improve on
As long as to improve on

No correction required
Answer: 1) ‘So as’ means ‘for the purpose

of’



15.

01.
02.
03.
04.
0sS.

At many areas, the manholes are below

the surface level of the roads leading to

deep pits in the middle of the road.
Leading of deeply pits
Leads on deep pits
Leading at deeply pits
Lead to deep pits

No correction required

Answer: 5)

No correction required



16.

01.
02.
03.
04.
0s.

In India, one in five accident patients dies

due to delayed in reached the hospital.
Delays on reaches
Delay in reaching
Reached delaying

Delayed in reach

No correction required

Answer: 2)

‘Delay’ is followed by preposition ‘in’



| &5

01.
02.
03.
04.
0sS.

Our ability to track locally weather
developments has been reduced drastically
after the radar stopped working.
Ours able to track local
Our able to tracks local

Ours ability to tracked locally

Our ability to track local

No correction required

Answer: 4) ‘Track’ means ‘take record
of’



18.

01.
02.
03.
04.
0S.

As elephants are aggressive animals, officers
using darts need to been highly skilful so that
we can bring the elephant under control with
fewer darts.

Need to be highly skilful

Needs to be high skilfully
Needed to be highly skill

Need to be high skilful

No correction required

Answer: 1) ‘Highly’ would function as an adverb



19.

01.
02.
03.
04.
0s.

The rains were accompanied with chilled winds at
most places, sending shivers up the spines of
people.

The rained were accompanied with chilly

The rains were accompany to chilled
The rainy was accompanied in chilly

The rains were accompanied by chilly

No correction required.

Answer: 4) ‘Accompanied by’ should be

used.



20.

01.
02.
03.
04.
0sS.

Unseasonal rainfall has caused woes not just to
farmers but also city residents as power supply
was hit owing to broken wires and local faults.
Was hit owing for broke wires
Were hits owing at broken wires
Were hit owing to broken wires
Was hit owing to broke wire

No correction required

Answer: J)

‘Broken’ is functioning as an adjective.
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HOME WORK

The new education policy
provides a useful
break......... for the planners to
remove illiteracy.

Up

Through

away

in

None



The proposal to establish a National Research
Foundation, with an “overarching goal to enable a
culture of research to permeate through our
universities” needs to be applauded and widely
supported.

(a) Establish

(b) Overarching

(c) Permeate

(d) Applauded

(e) All are correct






